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T : (31) ¥ Ui 1 TS T B T @ e §—ave (a),
gus () T @S (W) | @Us (1) A wgfaseitd yva, @
() ¥ 3faa Faw Sifey @ @ve (7) § faa wet #t i
¥ waft 9 €1 TAF @ve ¥ 5 99 § au1 goiw gv W
3 sefed €1

Instruction : (A) Question No. 1 is an objective type question. It has three
parts—Part (A), Part (B) and Part (C). Part (A) has Multiple
choice type questions, Part (B) has Match the following and
Part (C) has Fill in the blanks. Each part has 5 questions

and each question carries 1 mark.
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(ii)

2]

(TTR-3t) W ferwea oo

Part-
(Part-A) Choose and write the correct option :

Generally development of any country is determined on what?

(@) Average literacy rate

(b) Health of people

(¢) Per capita income

(d) All of the above
s Ffy w1 geaftom § -
(37) Sl = g

(7) TR &1 H9 394

(7) Yfa = w9 IARHT

(3) Yfi F ITIF9a H %
Bad effect of modem agriculture is :
(a) killing of organisms

(b) less use of manure

(c) low productivity of soil

(d) increase in productivity of soil



(3]
(iif) Wmmﬁmmw%m_mm?

(37) atay

(%) € o
(%) Yegifrm

Which metal was first used by human being?

(@)  Copper () Iron

(¢) Gold (d) Aluminium
(V) TFHEeq§.

(37) 4% F 9 @R

(F) dr-gie

(7) w9g

(3) wFH

Forms of money are :
(a) Current Accounts of Bank
(b) Gold-Silver

(¢) Animals

(d) Housing

(v) frmfft ¥
(37) T AR () & sl wee
(®) TH THa (3) T

Niyamgiriis a :
(@) movement (b) bauxite mine

(C)‘-'- mountain ' (dd Lkina -



14]
(Tvw-w) 3fem ey hfay .

(%)
() viftrsy %) -
(in g¥wm
(fii) N-qeeR -
(iv) e = qomm wren ]
(v) wrde 3 -

(Part-B) Match the following :

(A)
(/) Future energy -
(if) New Deal -
(iif) Lime-stone
(iv) Nuclear attack on Hiroshima -

(v) Marshal Tito

(Tve-w ) faa @A Fi gfd wifeg
(Part-C) Fill in the blanks :

[1x5=5
(@)

(%) 6 T, 1945
(%) qrireenfir
(7)) sl af
() Hafem soidee
(%) i

(B)
(a) 6 August, 1945
(b) Yugoslavia
(c) Non-ferrous minerals

(d) Franklin Roosevelt

(e) Solar energy

[1%5=

(i) WiPpfas FEET — & qa MR ¥ |

Natural resources are the main base of

(mmﬁwﬁmm_ﬂﬁmwﬁwmmt

Adult suffrage in India is attained on attaining the age of years.

(iif) Sua9l W i % fag — e aavaw ¥

sentiment is necessary for the end of colonialism.

At



— members in the ideal Parliament should be 33%.

“ %“HMtu

Endosulfan iS a/an drug

C :(a)mmzﬁswaﬁmmﬁammw
zaﬁ?ﬂﬁﬁaﬁl(wﬁmw—msom%)

Instructton : (B) Question Nos. 2 to 6 are very short answer type questions.
Each question carries 2 marks. (Maximum word-limit of

answer is 30 words)

-2 Ty fopd Fea € 2 [2)

What are called Resources?

-3  faesl & 990 & qd H SR 3 @ ? [2]

Before coins what was used in trade?

Wi-q  fy-sofrdie 2 2]

What is De-colonization?

Wr-s  wng & waifus 5T H WG 0 e s af 2]

In India which metallic mineral is found most?

“ﬁ-é m-@;maﬁm L &4 (2]

What is meant by Fascism?



| 16]
frdor : (W) 9E FUE 7} 10 7% ferEata v ) T T R
3 3% Jreifea ¥ (S| A afyran wez-dw so v ?)

Instruction : (C) Question Nos. 7 to 10 are very short answer type questions.
Each question carries 3 marks. (Maximum word-limit of
answer is 50 words)

W-7 IR ‘fex FE fawt’ wifm 78 ER, @ wwa F wfeeneit # feufa woFm
WM Tl ? (3]
If *Hindu Code Bill’ would have not passed, what effect would have
been on women of India?

Y-8  MRAH SEdl SR SR TR ¥ @ aTrere § F41 Hrnd 3R
3R of ? {3]
What were the similarities and differences between the Indian

Freedom Movement and African Freedom Movement?

ugA-9  THguiT geawe & S w1 99 R s R ? [3]
Who is credited for the victory of Niyamgiri Satyagraha?

¥ -10 q@aﬂf@rﬁﬁmawsﬂamw%meﬁﬂtmﬁ%? [3]
In the event of drought, on whom do the farmers and labourers

depend for their livelihood?

fader . () WO HAE 11 9 14 Th AYIAN T § | T T H 3T
faeq 1 Uel® W W 4 3 yEfed €1 (I Afusman

g -HHT 75 IR ®)
Instruction : (D) Question Nos. 11 to 14 are short answer type questions.

Each question has internal option. Each question carries

4 marks. (Maximum word-limit of answer is 75 words)

w-11 AR 3l srfirreare ® 1 <R § ? [l+1+1+1:4]

What is the difference between Nationalism and Hyper-nationalism?

)“"/




WA-12 Aieenay g5

[4]

-13 Hmﬁﬁaﬂaﬁaﬁﬂ%m%wmﬂ? [1+1+1+1=4)

3T/ OR
uwﬁﬁ@mwmwumq@?

What was the impact of the First World War on the general public?

Wi-14 & 7 ant@ &1 2@e 1 fou wedl % S Afv

35,113

3g10 811 3,868




[8]
(H < v = AW fafan)
(i) TR fyw w5 F 3ydm firg 2w A fn w2
(ifl) wra ¥ iy =afe Fo = gua fead 22
(iv) < T s § gEd w0 o 8 wea fFg dn A At ¥ 2 (1+1+1+1=4]

Answer the questions given below by looking at the given diagram :

(/) Name the given diagram.

(i/) Which country uses the most energy?

(iif) What is the per capita energy consumption in India?

(iv) Which country consumes the least energy in the given diagram?

3741/ OR

%nmmﬁaﬁ@aﬁ%@waﬁﬁquﬁ%mé:
Ra | T

1000
L 964 855 950 g45 946 941
950 930 932 g7 933 40

300
o AN I » 3 A A A N
N N LN EN 4 PP " \Q‘b'\ \%9’\ f;,@



‘ (9]
() wad sifiyes R g 2y 3 w1 8 2

(i) w&d ww fetryam fF o o Wik 2
(iif) TR = % e ferm frée e et 2 T 42
(iv) |9 2011 = fAmum s e <o © Foat € T ?

See this graph of sex-ratio and answer the following questions :

Sex-ratio in India

— S ﬂx"ratio

1000 972 oo, oss
950 m\%_o 945 946 941 g9 g3y gp7 933 94O
900 | l | | | l
'\Q'QN '\o-"\\ \gq} '\Qrb\ '\Qb:\ '\%‘3\ \%6\ \%1\ \‘b?’\ \Qg'\ ..EP ) ‘19\\
Years
(i) Which decade has the highest sex-ratio?
(if) Which decade has the lowest sex-ratio?
(iii) After which decade the sex-ratio is seen increasing continuously?
(iv) In which decade has the sex-ratio of 2011 become almost equal?
YA/ OR
Faet gite wifum & fT ( For visually impaired only) :
T eledd IR T Hrdrard arreet T €7
What is the difference between a Democracy and a Fascist Dictatorship?
3HeqT/OR
r § S ¥ v 3 s st fafav i wrdh s €2
Why is there so much variation in the density of population in India?
S3B

_\—'——
P.T.O,



Figor [10]
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Instruction . ,
“on : (E) Question Nos. 15 and 16 are long answer type questions.

Each question has internal option. Each question carries

5 marks. (Maximum word-limit of answer is /00 words)

W15 vifa sidem § wite @ swifs @ dw % fag Fw R Sa
THd T2 [14+1+1+1+1=5]

What steps can those involved in the Peace Movement take to prevent

unrest?

3eq1/OR

IRz icauEa e crec Tk
Why Disarmament is needed?

U9I-16 U fR8 FEd § ? R0 & fou vd, SR—=as g1, 993, s, findl enfg
H1 AEvgHa F1 B € ? THEE [I+1+1+1+1=

What is called Loan? Why some conditions, like—interest rate, time,

guarantor, mortgage, etc., are essential for loan? Explain.
3eqT/OR

afe yrdr fod S aftifas d@ | e = @, @ 5w g
e T F Y 98 ?

If the Reserve Bank of India does not control commercial banks, so

what will be the effect on the currency (money) and credit?

S-3B —



Instruction - (F) Question Nos.

ﬁwwtnmmme A Cof JRE e g —
T=-H 150 v #)

17 and 18 are long answer type questions.

Each question has internal option. Each question carries

6 marks, (Maximum word-limit of answer is /50 words)

A7 W O e & gt @) AR Y WA ¥ w7l o
e [[+1+141+1+1=6]
Describing the relationship between Prime Minister and Council of
Ministers, discuss the works of Prime Minister.
U/ OR
LT S H Wi F g, wriufess w g ger fnk €7 sq 9| @
T T I FHRES G0 41 THRIETE ?
How Parliament is dependent on the Executive in the process of law
making? Whether this will have a positive or negative effect on the law?
WA-18  wagH YA % B: fag feme sifera samem saf) [1+1+1+1+1+1=6)
Briefly explain the voting process by writing six points,
HIAT/OR
wagmal FaeH w i T TR ¥ (a9 w) 2
Why voters don’t go to vote (any six)?
$-3B




